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Do you know HOW?

1. Howis the graph of y = || — 8 different from the
graphof y = | x| How s it the same?

2. Whatis the equation for the translation of y
9units up?

3. Whatis the graphof y = | x + 77

Do you UNDERSTAND? @ PRACTICES

(@ 4. Compare and Contrast How are the graphs of
y=lx| —4andy = |x - 4| the same? How are
they different?

@ 5. Ervor Analysis A student s graphing the equation
y= | — 10| and translates the graph of y = |x|
10 units left. Describe the student’s error.
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Describe how each graph is related to the graph of y = |x|. @ SeeProble
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Graph each function by translating y =
9
2

Graph each function by translating y =
15.

X -3 10.y=|x| +7 Moy=lx +3
X -6 B.y=x +6 .y = x| - 25

x-3 6.y=[x+3 7y= -1
x+6] 19.y=[x—7 20,y =[x+ 25|

21, Postage The table lists postage for letters weighing as much as 3 0z. You want

to mail a etter that weighs 2.7 07. Graph the step function. How much will
‘you pay in postage?
First-Class Postage

0 < Weight <1 0z

1 02 = Weight <2 0z
2 02 = Weight =3 0z

Attherightis the graph of y = = . Graph cach function by translating
y==lxl

2.y= x| +3 sy
2.y=—lx+3 5.y

Write an equation for each translation of y = —

26. 2units up 27. 225 units left

28. 15 units down 29, 4 units right

) 30. Writing Explain how the relationship between y = | x| and y
10 the relationship between y = mx and y = mx + b.

[ + kis similar
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~2landy = |x +4]

(@ 31. Think About a Plan What point(s) do the graphs of y.
have in common?
« Howare these graphs related?
« Could a graph ora table help you solve this problem?
32. What poini(s) do the graphs of y = —|x| + 7and y = | x — 3 have in common?

x|. Describe how the graph is related to the

Graph each translation of y
graphofy = |v
3.y

x-1]+2 3.y=x+2| -1
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Lesson Check
1.y = |x| —8isy = |x| translated 8
units down; the graphs have the same
shape.
2.y=|x|+9
3.0

lo]

4. The graphs have the same shape;
y=|x| — 4isy = |x| translated
4 unitsdown and y = |x — 4] is
y = | x| translated 4 units right.

5. The student should translate the graph
10 units to the right.
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6. Itis a translation of y = |x| up 3
units.

7. Itis a translation of y = |x| left 4
units.

8. Itis a translation of y = |x| down 4
units.
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